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The research aims to explain:
1. Maximum gravitational force of individual Masses:
* Derivation of the gravitational force of the individual masses,
* The orbits of the planets of the solar system:
- Orbits of the planets.
* Age of the earth,
* Correction of the orbits of the planets of the solar system,
* Location of the planets of the solar system (restricted planets - free planets),
* Cosmic coherence (space engineering).
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2. Black holes:
* Explanation of what black holes are,
* Two black holes collide,
* Classical equivalence and general relativity (space-time dimensions),
* The universe in another perspective (determining the value of the Operator Del),
* Correction of general relativity (applied case),
* Achieving the speed of light in terms of spatial dimensions (Operator Del).
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3. Special Relativity:
* Correction of special relativity,
* Definition of Schwarzschild radius,
* The potential energy of a material body in terms of the Operator Del,
* An applied example of the correction of special relativity,
* Applied meaning.
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4. Atom:

* The gravitational force of single electrostatic charges,

* Research objective:

- Forming a new vision for the study of the atom, its components, and how it moves,
- Derivation of a new law from Coulomb's law,

- The gravitational force of a proton's charge,

- The gravitational force of the electron's charge,

- The gravitational force of the neutron mass and its relationship to the proton inside the
nucleus.

* Orbitals inside the atom:
- Critical radius,

- Why is the electron not attracted to the nucleus of an atom?
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* Energy of the atom:

- The energy that must be brought in from the outside in order for the electron to
separate,

- The energy required to liberate the electron of a hydrogen atom, which represents the
binding energy,

- The value of Rydberg's constant in terms of the gravitational force of the average charge,
- Rydberg energy in terms of the gravitational force of modified charges,

* Energy levels in atom:

- inert orbit,

- The orbit in which the proton and the electron cancel the gravitational force field of each
other's effect on a particle located in that orbit.

* Black holes and their relationship to the atom:

- The gravitational force of a proton and neutron black hole in terms of the Schwarzschild
radius.
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Symbol Meaning
F Force
GR. Gravity
M/m Mass
G Constsnt Gravitational
R Radius
Rs Schwarzschild Radius
P.E Potential Energy
E+- Power (10*99)
N Newton
VE Escape Velocity
T Age
L Distance
E Earth
S Sun
C Light Velocity
X Nibla/ Operator Del
B.H Black Hole
n Pi
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F12 = GMiMy/(R1+R2)?2

(M1 = M)
(R1 = R2)
Fi12 = GM?/(2R)?

F12 = GM2/4R?2

So, the Maximum Gravitational Force for Mass
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Sr. Description Result Remark
Prove that the mass has maximum  ANM2IAD2

01 gravitational force. F wax. Gr. mass = GM?/4R New
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Sr. Description Result Remark
Prove that the mass has maximum AR

01 potential energy. P.E Max. Mass = GM /4R New
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F GR. (Sun - Moon) = GMM/R?
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RzCriticaI = Gm-M/ F Max.GR.m
R2critical = 6.67408E-11 x 7.36E+422 x 1.989E+30/ 2.995E+22

R critical = 0.02E+12 (m)
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R2critical = GM.M/F Max.GR.m
R2critical = 6.67408E-11 x 7.36E+22 x 5.972E+24/ 2.995E+22
Reritical = 31.297E+6 (m)
Reritical = 31,297 (Km)
Distance between Earth and Moon (484,400 Km)
X = 484,400 — 31,297
X = 453,103 (Km)
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https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D9%85%D8%B1%D9%8A%D8%AE
https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D8%B4%D9%85%D8%B3
https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D8%B4%D9%85%D8%B3
https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D9%88%D8%AD%D8%AF%D8%A9_%D8%A7%D9%84%D9%81%D9%84%D9%83%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D9%83%D9%88%D9%8A%D9%83%D8%A8%D8%A7%D8%AA
https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D9%83%D9%88%D9%8A%D9%83%D8%A8%D8%A7%D8%AA
https://ar.wikipedia.org/wiki/%D8%A3%D9%88%D8%B1%D8%A7%D9%86%D9%88%D8%B3
https://ar.wikipedia.org/wiki/%D8%A3%D9%88%D8%B1%D8%A7%D9%86%D9%88%D8%B3
https://ar.wikipedia.org/wiki/1781
https://ar.wikipedia.org/wiki/1781
https://ar.wikipedia.org/wiki/%D8%A8%D9%84%D9%88%D8%AA%D9%88
https://ar.wikipedia.org/wiki/%D8%A8%D9%84%D9%88%D8%AA%D9%88
https://ar.wikipedia.org/wiki/%D9%86%D8%A8%D8%AA%D9%88%D9%86
https://ar.wikipedia.org/wiki/%D9%86%D8%A8%D8%AA%D9%88%D9%86
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F Max. = sz/"rl’2
F Max. = 6.67408E-11 x (5.972E+24)%/4 x (0.6371E+07)?

F max. = 147E+23 N

F Max. = Gm2/4r2
F max. = 6.67408E-11 x (6.390E+23)?%/4 x (0.3389.5E+07)?
F max. = 5.93E+23 N

F Max. = Gm2/4r2
F max = 6.67408E-11 x (1.898E+27)2/4 x (0.69911E+08)?

122,977.52E+23 N

F Max.

F max. = GmZ/4r2
Fymax = 6.67408E-11 x (5.683E+26)%/4 x (0.58232E+08)2
F max. = 15,891E+23 N

F Max. = Gm2/4r2
F max. = 6.67408E-11 x (8.681E+25)2/4 x (0.25362E+08)2

F max. = 1954.81E+23 N

F Max. = Gm2/4r2
F Max. = 6.67408E-11 x (1.024E+26)%/4 x (0.24622E+08)?2

F max. = 2,886E+23 N

F Max. — Gm2/4r2
F Max. = 6.67408E-11 x (1.3E+22)%/4 x (0.11883E+07)?

F max. = 0.02E+23 N

26|Page

Saroll

J>

owgilygl

Uiy

oighy

4 0all doyboll



waball dgydlzll 548

8y3,8di0)] d3S3iliwg eSSt Olizallg Jisl)

x| 3.2

65,i0] dcnonid] dcgazadl SlgS JiSU solas)l aiolS)l @8lally  solasll auslsdl 698 Jgas

F max. = GmM?/4R? (N) Radius (m) Mass (Kg) Sr.
1.4E+32 0.69551E+09 1.989E+30 ol 1
3.025E+23 2,439.7E4+03 1.989E+30 2
107.9E+23 6,051.8E+03 3.285E+23 3
147E+23 6,371E+03 4.867E+24 4
5.93E+23 3,389.5E+03 5.972E+24 5
122,978E+23 69,911E+03 1.898E+27 S yiiaod| 6
15,891E+23 58,232E+03 5.683E+26 7
1,954.81E+23 25,362E+03 8.681E+25 owailysl 8
2,886E+23 24,622E+03 1.024E+26 9
0.02E+23 1,188.3E+03 1.300E+22 10
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0o, W 65 000d1 JiSl wwoadas] dwslodl 898 WYL puouid] e WSeSIl Ay LA 4.2
1052009 W9Sw S\ Ujio USIl Ul b i e = anowid e WDasug

rosJW S| saudai

Max. Gr. force

Distance between planet & sun

F max. Grav. arth = 1.5E+25 N

Les= 0.1496E+12 m

F max. Planet X

L=?

L = (3.025E+23 x 0.1496E+12) / 1.5E+25

L = 03.02E+09 m

L = (107.9E+23 x 0.1496E+12) / 1.5E+25
L = 107.6E+ 09 m

L = (01.50E+23 x 0.1496E+12) / 01.50E+25
L = 149.61E+09 m

L = (5.93E+23 x 0.1496E+12) / 1.5E+25

L = 05.91E+09 m

L = (122,977.52E+23 x 0.1496E+12) / 1.5E+25

L = 122,649.6E-+09 m

L = (15,891E+23 x 0.1496E+12) / 1.5E+25

L = 15,848.624E+09 m

,lac

18,83

:uo,

J>5
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L = (1,954.81E+23 x 0.1496E+12) / 1.5E+25

L = 1949.6E+09 m

F UG
L = (2,885.9E+23 x 0.1496E+12) / 1.5E+25
L=2,878.2E+09 m
95l
L = (0.02E+23x 0.1496E+12) / 1.5E+25
L = 0.02E+09 m
rawilpill asidd] .5.2
tomoid] o Lps)d s> uo,Vls WSIeSUl iy
The Distance from the sun (m) F max. = Gm?/4R? (N) Sl 0
0.02E+09 0.02E+23 siol 1
3.02E+09 3.025E+23 >)lac 2
5.91E+09 5.93E+23 Zuoll 3
107.6E+09 107.9E+23 8,83l 4
149.6E+09 147E+23 oVl 5
1,949.6E+09 1,954.81E+23 owsilgl 6
2,878.2E+09 2,885.9E+23 Ui 7
15,848.6E+09 15,891E+23 J>5 8
122,649.6E+09 122,978E+23 S yiwiaod| 9
Al iyl L1.5.2
wSyiniaadl - J>5 = gt — wsibel — Lo VI — 8,830l = gysell — 5 lac — gisl,
vl wwiyill L2.5.2
sk — Vg — Guwsilsl — J>5 — oSyiinall = gusell — 4o,V - 8,830 — 5, lac
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 éuamouid)] acgozoll WSIgS @990 .5

JiSI Ol Csasou (M) 8 u2a)l JiSU (M) aouas)l JiSUl g Ml osice aw il — 2l Hlaedl J1.5
roswabasll @uslaadl Lpiga) culog & uall

9igh .1
19999 o] G Alis)l awdlxd] 699

F = GmM/R?
F = 6.6748E-11x1.3E+22x1.989E+30/ (0.02E+09)?
F =43142.9E+23 N
R2critical = GMM/FGRr. m
R2critical = 6.67408E-11 x 1.3E+22 x 1.989E+30/ 0.02E+23
R critical = 29.4E+09 (m)
: Ogamzeoll Azl
R = 0.02E4+09 m

&monid] dcgozall duso LSS il Aiizy low Guoid| dp> o 2yl laedl a2 géy gigh w3
WOV sie Luowid! dwuslsd giass ade asdlgll ol VIl Ol sasou

:;,Lb.g_: 2
)lbcy pmowid! G NSJl Laxdl 699
F = GmM/R?
F = 6.6748E-11x3.3E+23x1.989E+30/ (3.02E+09)?
F=4.8E+24 N
R2critical = GMM/Fer.m
R2critical = 6.67408E-11 x 3.3E+23 x 1.989E+30/ 3.025E+23
R crtcal = 12.034E+09 (m)
 Ugmol] Azl
R = 3.02E+09 m

&onid] @cgazall duio SeS @il adies low Guewid] dp> oo 2,5l laedl a8 5, Uac W)
WOV sie Luowid! dwuslsd gass aude asdlgll ol VIl Ol saso
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Hra BY-V] JINC
ievsollg o] G LSl izl 699

F = GmM/R?
F = 6.6748E-11x6.42E+23x1.989E+30/ (5.91E+09)2
F=244E+24 N
R2critical = GMM/Far.m
R2critical = 6.67408E-11 x 6.42E+23 x 1.989E+30/ 5.93E+23
R critical = 11.988E+09 (m)
: Ogamzeoll Azl
R = 5.91E+09 (m)

&onid] dcgazxall duio LSS @l Adiz low Lo @p> o x| ool Az gé duyell L)
WOV sie Luowid! dwuslsd giass ade asdlgdl plu VIl Ol sasou

0,0, 4
10, g ymowidl G SNLSJl LaxJl 699

F = GmM/R?
F = 6.6748E-11 x 4.87E+24 x 1.989E+30/ (107.6E+09)?
F = 0.56E+23 N
R%Gritical = GMM/Fer.m
RZ%critical = 6.67408E-11 x 4.87E+23 x 1.989E+30/ 5.93E+23
R crcal = 11.988E+09 (m)
 Ogzeoll Azl
R =107.6E+09 m

Ol (simoy anonisll dcgazall ;> WSS il sy Lo @ zy=dl laedl Ju6 ga5 8,31 03]
wSeSl duslsd L oMBYI e (ol duslsd gass V alde asslgll oLVl
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rsveSIl lwlow] .5

r o biais]l Wl U lasg @swl 1.
p9p80 cauwiwl o OV asy 898S awdladl oulii] @V dslell duwdl &,k sy M
conzd (0Sedly Uloy)l @y @olidl dwaigdl pepioy Ewdlol) o juwss o9 gall
izl sl olyluolly slasll dwiis alis)l aasld LVl (i <dolell duwdl
sleoVl i) & b slaall e lpy &ymas9 ol VIl

165 piioll JiSU (o)l ausladl 699 U Lidy (ieSIl wloill .2.5
cobaell duslal 698 ,5b s iy weSIl Ol 63 ai0dl JiSl (salaedl auslall d6d @, S,
a3l 89a) il all> e @l (visS)l aumill) (gl clulosl Vlg 85 yaiadl iU
aSaiadl 9l guanid] JS i dll Giongo 895 sgll gaill 83,ai0dl JiSU sabasll
sl (53 yiug sl oies @Sl ol guandl 1iag LgSI WlgSo Joxi csills AnigSII
S5l pr @sliaoll B9l (Ml @uilSadl sleuVl) &l asgSdl sloll Joing (il
JiSU (sl ausdlodl 899) ol cus gl 893S aull Lo, lodly JiSIl o of puonidly
Sl LSl ©lgSo Jox csilly ugilill AnigSIl aSaniadl ol uansid] JS s (5 riuioll
awlSall sl V1) aJldl &S, =ioll sl (58 idg sl oz aSuidl of gunid] lidg
asW asaall &S,mdl (50 Jiow Uss &y a2 o)licls o3l J3ls JisUl &g (M
saall ahi @ls 99 cwxalllall Sl (53550 ool 98 85550 caallila] S sla
audlall 698 Wl o &)U axsSUl aSeidl ol umuid! Wlsils LpSlgSs LurasidlS sglall (sde
iSg Lpsas ,hd aaig LpiliS calisl lago sodl Cgadll 4liS) 83,a00ll JiSU (ol
aliSS olymiy alS weSIl Olg LuSloSe Luwowind) aliSU 83 yaioll S csodaell dusladl 3ga)
(0803)l) aslSoy)l sl JUs

M (Gusell = 5)lac — gigly) wSoS o9 s ol liSoy V A

DA 09y &y (o] gliziw Y

VE =617 m/s
85,850l JiSU) (swodaell ausladl 899 oy Gaowid] alisd 65 yai0dl xS (sodasll @audladl 698 (o OOV ulnsiuid
SlesJl alisJ
I (8,8301) WSeS o9 sl yodl LiSoy
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63 0l Jisl cswodasdl auwdladl 899 AV doudl Loiidl Adlo jumusti .1
roluw> wolboll 1.0

Jhd as) wasdl s s @V sVl waail) 83,850l JiSU cswodasll dusladl 898 (b Lo
¢ (o) leow

i)l Had was @V 65050l JiSU (swlaell auslsl 898 @sles sl
a3, la do of LGB
Rs = 2GM/ C?
Rs = R. v/ C? (New)
o, ,hhd auns @Yy dewVl wail) 85,8i0dl JiSU (swodasll auslal 898
F Max. B.H = GM?/ 4R¢?
sl ziylens ,hd caas @V sgwVl wasl) 85 ai0ll JiSU salasll 2ol @8l
E max. 8.1 = GM?/ 4Rs
: kil 2.1
SNl uesll .1
Rs = 2GM/ C?
Rs = 2x6.67408E-11x0.37E+53/ (2.99792458E+08)?
Rs = 0.55E+26 m
F Max. B.H = GM?/ 4R¢?
F Max. B.H = 6.67408E-11x(0.37E+53)%/ 4 x (0.55E+26)2

F max. 8.1 = 0.75E+43 N
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Rs = 2GM/ C?

Rs = 2 x 6.67408E-11x1.989E+30/ (2.99792458E+08)?
Rs = 2.954E+03 m

F Max. B. H = GM?/ 4Rs?

F Max. 8. H = 6.67408E-11x(1.989E+30)?/ 4 x (2.954E+03)?

F Max. B.H = 0.75E+43 N

1S ol .3

Rs = 2GM/ C?
Rs = 2x6.67408E-11x1.898E+27/ (03E+08)2
Rs = 02.815 m
F Max. B.H = GM?/ 4Rs?
F vax. 5. 1 = 6.67408E-11x(1.898E+27)2/ 4 x (02.815)2
F Max. .1 = 0.75E+43 N
100 )Vl 4
Rs = 2GM/ C?
Rs = 2 x 6.67408E-11x5.972E+24/ (03E+08)?
Rs = 09E-03 m
F Max. B.n = GM2/ 4Rs?
F Max. B. 1 = 6.67408E-11x(5.972E+24)?/ 4 x (09E-03)2

F Max. 8.1 = 0.75E+43 N
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Rs = 2GM/C?
Rs = 2 x 6.67408E-11x7.36E+22/ (03E+08)?
Rs = 10.92E-05 m
F Max. B. H = GM?/ 4Rs?
F max. B.H = 6.67408E-11x(7.36E+22)?/ 4 x (10.92E-05)?
Fmax. 8.1 = 0.75E+43 N

:(io 01) 6,b9 waig (xS 01) aAliS bo puwn> .6
Rs = 2GM/ C?
Rs = 2 x 6.67408E-11x01E+00/ (03E+08)?
Rs = 1.5E-27 m
F Max. 8.H = GM?/ 4Rs?
F Max. 8.1 = 6.67408E-11x(01E+00)?%/ 4 x (1.5E-27)?
FMmax.8.H = 0.75E+43 N

iabo> Vo .o

095 @) 83,0100l JiSU (solasll dpsladl 898 0 (5,5l 0,08 haig @i <l Ul sg I sl
10gSIL swobaell 898l (addg — 392> (59 &l

F Max. B.H. = 0.75E+43 N

‘ ‘ ‘ 10lsguwl VLS p3lay
logigh Of s LSl gl 898) Loslay 0l siazdl Ladyhd aig logaliS walis] logo pusgwl panstdd oSou V
ryglain (sliS)l Cizl) (solasll

F Max. BH. = 0.75E+43 N
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réole)] auilly S\Suww MSI] §91SI .2

85 0i0d] JisSl okl audlxdl 699 9 Guimiaisy dole)l Gl @8Me auwlys 1.2
1e90J| AL puw e Lod yuilig 9w VI wusill

log «susSl il csle yilodl 55ty 85 y8i0dl JiSU  solasll a3l 868 Weild Blaxby ases
1l > bl @l pllell s iz

awigS)l sl Vg dole)l dunid! .1.1.2
rosls WS stV pggant ool @V dolell duwid] @,k dallieo

S, sll 8,b8 aig @&liS colS Ul sgw VIl sl 85,850l J5SU swlasl dudlal 899 g
rwgilal)

F B.H.Max = C4/ 16.2024G

(16) 08, Jiou > ool @l pllel doledl duwidb audladl 868 Lglio sd @sleol] 0idg
rosb LoS oMel @sleoll

2% 258 xn=16.2024

sVl e (3) Wl aysi oSiow Sl LeSIL dslizeoll 85loll he (Js g0 — 2.58) p8,)1 e
:(X/Y/2) (LSl - UKLJI)

e ez (Sx]
(01) 911 (01) 912 (0.58) g3
(01) g1 (01) 922 (0.58) g3
(01) ga1 (01) g2 (0.58) gs3

tosbuloS 8 ,uwaig (25.12) doud i d9>g90 WSl aliS (e e (16) p3,J18 aslell auuwadl (89 Lol
2X4xn=2512

1(Xy/2/t) (01l - Ololl) stV e (Us 1350 = 4) p3))1 a2

€o €1 (S9) (Sk!
(01) goo (01) go1 (01) go2 (01) go3
(01) guo (01) gu1 (01) g2 (01) 913
(01) g20 (01) g1 (01) 922 (01) g23
(01) g0 (01) g31 (01) 932 (01) g3
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1(x/y/2) awilSoll Sl sl Ll .1.2.2

etolell dunild sl @l @5kan "Dy ige" (X) ol ety s8I S 2002 e Ay
F = C% 2nXG
rosblo wsde lely @zl 32509 83,800l JiSU ool @l 894) 858)l 048 b9l
oo soimy Sl puilly (59, weSIl JS 08 (X = 4) puo b, oale llaxi ] -

(X1y/z/t) = (VSdl - Lloy)l) sl VI

998l auuidly 59,5 LSl JSow JSei 0ld (3 < X < 4) SyrS 03, (sle Lhaxs 15| -
(X1y/z/t) = (Ul - Vol sl VI (sle aous

e aosey (susSIl auuilly (S9,S WeSIl JSii Wb (X = 3) u=o 3, sle Llaxs 5] -
asleoll (88 ,20V Azl 98 weSU (2) glas, VI wgSug (X/Y/Z) — (LSl - VlSedl) sl VI

& 51> 62cl8 o5 sulgbwl WeSIl JSio Old (2 < X < 3) SpwsS pd, wsde bhazs 5] -
o8 wgSl (2) &las, VI wgSys (X/Y/Z) = (Ve - UJl) sl VI (sde soisy (sigSUl uuilly
sleall (59 ,20V 1=l

0eSl JSuw .2.2.2

a3l 898 @V aolell i) Gl @yl @by (X) coldl ayyen oSl S0 1y
259wVl izl 85,8500l JiSU Csodasll

F max. 8.H = 0.75E+43 (N)

F = C% 2XnG = F . H. Max.

X = (2.99792458E+08)%/ 2x3.14x6.67408E-11x0.75E+43
X = 2.58

alnwgio 53 95 Sgliaw weSIl JSLw vl Uiy (2 < X < 3) SwS 08, wsle Lhass w3 -
(2) eles, VI LgSug (X/Y/Z) — (V8! - UlSell) sl VI (sle dosss (oSl zuawilly &>
asleodl (58 20Vl 2zl g weSL)
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' Soluii pgleall weSU (X/y/z) LS|
X=01 ——0p 04.434E+26 m
Y=00 — 04.434E+26 m
Z = 0.58 x 04.434E+26/ 01
Z=0.588 —» 2.51E+26 m

vl _b>Vs .3.2.2

S, sll 8,b8 aig @liS colS Ul gVl sl 85 ,a50dl JiSU swolasdl dudla] 899 g
rwgilal)
F max. 8.H. = CY 2x2.58nG
F max. BH. = C%/ 16.2G

F max. BH. = 9.3E+08 C*
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sl swobasll awdldl 6999 aoledl Gunaid] (Nigild w awdlxd] 699 dlgluws 3.2
6> )2i0ll
:sJoVl Al L1.3.2

@V ol dmuidl o> (X/y/2/t) (0So3)l) @Ml aulSall sVl csioy)l 1zl seg
: o bikiai]

GM?/ 4Rs? = C*/ 8nG

C* = 2x4nG2M?/ 4Rs?

C* = 2.79732199355E-20 M?/ 4Rs?

C = 1.29325931434E-5 (M/ Rs) /2

C = 1.29325931434E-05 (1.989E+30/ 3E+03) >

C = 3.32998578E+8 m/s (01)

rauWl Al .2.3.2

oy &V 85,850l JiSU cswodasdl auslad] 898 Ueild wows (X/Y/z) @Ml aulSoll sl VIl sg>9
Y PR VR F-INTIN 2

GM?/ 4Rs? = C% 5.16nG

C* = 2 x 2.58 x nG2M2/ 4Rs?

C* = 180.20015401E-22 M?/ 4Rs?

C = 1.15861404669E-05 (M/Rs) /2

C = 1.15861404669E-05 (1.989E+30/ 3E+03) "

C = 2.98329056E+08 m/s (02)
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OMJI auilsoll stV AV sl ac uw (Saixi .3.3.2
ras Ml aigSiwd] @Sl sleVl &V sgall dcyuw sabzei) aliol
Jlio
130wl witiS Hokuoll UesJl .1
C = 1.20351340201E-05 (M/ Rs) /2
C = 1.20351340201E-05 (03E+52/ 4.45E+25)/2
C = 2.99792458E+08 m/s
150wl witiS Guowid| .2
C = 1.20351340201E-05 (M/ Rs) /2
C = 1.20351340201E-05 (1.989E+30/ 03E+03)'/2
C = 2.99792458E+08 m/s
159wl wiiS o,V .3
C = 1.20351340201E-05 (M/ Rs) /2
C = 1.20351340201E-05 (5.972E+30/ 09E-03)%/2
C = 2.99792458E+08 m/s
(9w bow gliiuw)l .4.3.2

99SJ] zuidl Olg @88 e il oV aoledl duwsl) (Us Ligo) aweSIl sl VI sle sloxeVl
slisoy dssiyog Ao pue sgall dc,w (sdasy (UKo ) (Vo3I - VSJI) (58 Jiosy LeSU
&/ pS 33,000
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E = moC2

JS Ly ,9lws Wl Ruiws dc,aw (suadl sd (C coldl gl) sguall dcpw Ul dwvlidl @il w90
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C = 2.99792458E+08 m/s
C? = (2.99792458E+08)? m?/s?
:(Rs = 2GM/C?2) Muiv i) lauiv Jbod uai Wiy W1.0

e 5> 5500 @awxoll @luoll 9a (Schwarzschild Radius) clla)l  sd alo b Hbod o
ac,w baie puar willy 55,0l @i 8 dasiaiog 3550 pazdl 83lo guos Ol Lol,usL alisl
sgall ac, il Bgluo MY

MV egall deyud &)lio aic,w oz oSoy iyi)les Jhd ai oo Jgbl @lue sic
OoSou M8 iyl yhd ai oo sadl @8luwe sde ozl OIS 13] Lol calisll pubasll o,=l oo
w5 o2l oy Wiy ol o ey Ol gabaiunV ssall iy verzdl po CMVI puzl)
o iV sgall dsail O Cus> sgwl Lis alsdl oia

w09 . 2.1
W] acw sJl Lo wMasVlg Lo,V 8)5l20d bo puu> zlizw Lo,V LSeS ausls Jlsw (sd

pladl o 29,2lg) Guowidl audls o GMOW SJg ¢ (Ve = 11.2 km/s) Lu,éi Sqluw
.(VE.s = 617.5 km/s) Ly,85 Sl M| ac,w (Jl glizy adasidl juuss o (coamnonid!

lpaSonV 13 yhasll s =15 590 ol 8500 oS paling s sde oo p Llay ()] Al
Lire o2l ey iy aio el

dslol) ,UaasVl s (sde Loyl wdes G abla aliS)l iS5 oe asslll auslsd] 658 S

V aslis ol aass (sl Jas o> J31 pi J51 pes 9 Lalaily SoloSsVl (s 85kl yoiwsd

lAd pauiwug .c90 £leub n5| o wlainV s bg.wi -y gi Sod> 5,85 S (o9 taslps
olel il dyailly duslal dybs (50 dols daas ellall ples cbyall (v allaoll
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:J> 00 AV Solo punsd @il aslall 3.1

pllel) dolzdl duuil) aslhll @sles Sl wlg WV ... Lo aliS) auolSJl aslall Sgluwss S
sodl Laail aliS) swodaell audlal 8g8 @slen) Isbuw] o aliS) auolS)l @slall go culivinl i

10 yo50dl

E = moC2 = GMo?/4Rs
16,90 e aolidl duuill 0 2oy Lsd Guidsleoll Soluii S
E = moC%/Xn
Lpsiondy (VoI - UlSol) (Sl il (s ALl il Jioy "ds jige" (X) >
X = 2.58
1,8 (sJ] 8,51l buseo dus b W,mug 8,511 culs of "b" ol (1) SWI

{O] [for TYONTINE VY POy

g8 SlaoW acsll plasl sy (il oo caisall = sl saill Jin) s OSall jue oy &iSLudl ol
w803l (gl el baad LilSo > Jsius

(SJl aliS o) 0lSally 0oyl e &yt @S yiodl pluus VIl Lol

wJ| sgall dcyw o) wldos o> (53§ s logaiond USly Ulo 3l bauny 3] apucus asylny W ey UISly Wlosll
obadl puss

gl dc,w Solus UlSally Uloj)l e ymio puws> SY &S ol dcuwll
weoll oy ¥ 0B 1y SlasW (aeoll g5 o3
1080l
g0 Ul e
w0 uE oyl e
sl Olpudi o
J8l @l By by Sl )luwoll 8 pluw=Vl &= dzulall ol
+99SJl il 82>y alas) Ulp=g LpilSog Lpilo; sl LS aisLul JssI
oozl s @8l (g 83Lal Lol 6,0 85lo b @dlall
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20 Uik | @Y Qo bl @il 2usead e i Jlo .
11&,laio alis) aiolsUl aslall sl .1
m = 4E+06x1.989E+30 kg
Padewsi)les Hbd wai sl .2
Rs = 2Gm/C?
Rs = 2x6.67408E-11x (7.956E+36) / (2.99792458E+8) 2
Rs = 11.82E+09 m
H(asiiw) Gigw Il aSewMsd Isbiew] adUall asles .3
E = Gm?/4Rs
E = 6.67408E-11x (7.956E+36) 2/4x11.82E+09
E=8.94E+52 ] coooovoeeeeeeeeeeeeernn 01
ozl a4
E = mC?
E = (7.956E+36) X (2.99792458E+8) 2
E=71.50E+52 7 oo 02
&) s20d| @olzdl @il .5
E = mC%/Xn
E = (7.956E+36) x (2.99792458E+8)2/2.58x3.14
E=8.83E4+52J oo 03
rasadl .6
02 p3, 1l BWislg 03 08, 1l 01 08, il Syl a>Y
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i S\aaabill usoll 1o

Wl 6,90l (sle auiaail dolsl dwidl @sleo @GS e 1.1,

E = moCZ/Xn

E = mo (2.99792458E+08)%/2.58x3.14

E = mo (1.05328531E+08)2

Ol V| baseo 0lS @slhlly iS¢ Solwal @sles oo culbivin] oyl @ sls b o] .1.2.0
3,9 39>9 sl U, lall Las s 188 Uazdl Las L o Joss ozl sl aallnoll dlgLunoll
uizeol] (50 syl slosdl (gaadailly @sleod]l alls Lol ses5 sl @udadl blwsdl G

(Gl apnuud] wlsiiw) ade avll auuwadl adlb sulni Sy sSJ

m = mo/ {1 - (v/C) 2}/

m = 1.06809235 m, (+ mass)
t=to/ {1 -(v/C)%}?

t = 1.06809235 t, (+ time)

| =lo {1 —(v/C)2}/?

| = 0.93624863 I, (- length)

mo/ {1 — (v/C) 2}/
1.06809235 m° (+ mass)

m

m
Mo = 5.972E+24 kGR.
m = 1.06809235 x 5.972E+24

m = 6.379E+24 kg

iJle .1.3.0

v = 1.05328531E+08 m/s

v = 2.11E+08 m/s

1 Sobuwi @ugSow aliS al Sxbo ] adas ac,w i

118 930 Jg> senll Lgaill dc i (sdg &y950 ACyw suadl
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basiz Sily @] Jsogll Sy sibounSIl paiall o £33 s20l ol sl ,2> 20l (s 8,41
il i) asloans)l Lailazdl

&meid] @uzg0 8lgy Jg> 5905 sl (SUg,uSIVI) adlud] wlizeid! o @lsew oo 8,31 UgSs
s 8, dxig @sleio Wlg,igug dixidl a0 Wlgigw o dlgidl WeSEHg ¢3S yoll (89 13> 6 a0
il sOM 83Ladl (08 ,iST luag alS 3] ¢ oliedl dudr e @ smon Ul Siow paiedl o 5> 20l
319 raic w39 JUd semy ) 20V

b Juio 6dui 1.1
Ausedl BLasS| (sl ppsdng slalsl Jeuin 2all @I pllel 1id (8 S,z log 8,31 wuS i Jlj Lo

2SI pace Taues 530 g aslzdl sl kg Lssbe e @lols daua> £9,9 ,eks wisl Ld (o
aaslall LoVl adan lpsly «s Sl sl Wby 5oy (aas\I)

16501 WlgSo 2.1
Nucleus:
Protons:
Mass: 1.67261637E-27 kg
Charge: +1.6E-19 c
Radius: 1E-15 m
Neutrons:
Mass: 1.67261637E-27 kg
Charge: (+ -) 0.00 c
Radius: 0.8E-15 m
Electrons:
Mass: 9.11E-31 kg
Charge: -1.6E-19 ¢

Radius: 2.81777E-15 m

48|Page

iy ol dsuloll


https://ar.wikipedia.org/wiki/%D8%B9%D9%86%D8%B5%D8%B1_%D9%83%D9%8A%D9%85%D9%8A%D8%A7%D8%A6%D9%8A
https://ar.wikipedia.org/wiki/%D8%B9%D9%86%D8%B5%D8%B1_%D9%83%D9%8A%D9%85%D9%8A%D8%A7%D8%A6%D9%8A
https://ar.wikipedia.org/wiki/%D9%83%D9%8A%D9%85%D9%8A%D8%A7%D8%A1
https://ar.wikipedia.org/wiki/%D8%A8%D8%B1%D9%88%D8%AA%D9%88%D9%86
https://ar.wikipedia.org/wiki/%D8%A8%D8%B1%D9%88%D8%AA%D9%88%D9%86
https://ar.wikipedia.org/wiki/%D9%85%D8%A8%D8%AF%D8%A3_%D8%B9%D8%AF%D9%85_%D8%A7%D9%84%D8%AA%D8%A3%D9%83%D8%AF
https://ar.wikipedia.org/wiki/%D9%85%D8%A8%D8%AF%D8%A3_%D8%B9%D8%AF%D9%85_%D8%A7%D9%84%D8%AA%D8%A3%D9%83%D8%AF
https://ar.wikipedia.org/wiki/%D9%86%D8%B8%D8%B1%D9%8A%D8%A9_%D8%A7%D9%84%D8%A3%D9%88%D8%AA%D8%A7%D8%B1
https://ar.wikipedia.org/wiki/%D9%86%D8%B8%D8%B1%D9%8A%D8%A9_%D8%A7%D9%84%D8%A3%D9%88%D8%AA%D8%A7%D8%B1

» ' ﬁ ?x%}‘l‘iz
wakhall dg3lall 545 ~ R N
v 14513 $|cs
83)8inll dpSyailiwgyesS)l Olizally Jisl) M,,,,/m ‘3 «4?",‘23
\7*\"7’ \'~~;' "f“

= 3
-s': G

65 32i0)] AuSwiliwg gl Oliuinld ool audldl 898 .w

gl 1.0

b lolly Casel) dpale BT zudy Wlgizog 6,4l (ueSs SlSLo] Lasd yuwss sV @glxo
vl WAl 2.0

LS 5> 440,59 piligSog 8, dlwl)nd daua> @d; (9SS

:p9d9S U9ild Lo WA LI Pl .3.v

41208 G 98 s 342 clsal) (2 O 90 smSall olsS Uild ol polsS Leild
Ll ypS Woxiio Olau

1p9JsS 869 ol Sl iUV doall @gmsinall pluuzVI ¢ Al pSUl b9l (sde (3Ll
F=KQ:1Q2/R?

K = Ya ng
elivawdl 4.0
1653050l @S5 liwg ,pSUl Wlisead) (swlaell audlsl 898
Sr. Description Result

Prove that the electrostatic charge has maximum

01 gravitation force

F Max. GR. charge = KQ?/4R? (New)

H-CWH|

euiicuss Lpiog ,63,80)l @izl pShos ausls 898 (sadl (sd 85 yaioll auSuiliwg,pS)l liseil) (solasell a3l g8
163 yai0)l 4S5liwg ypSUl wlizid) sobaell gogll @8l ol

Sr. Description Result

Prove that the electrostatic charge has maximum s
01 potential energy. P.E Max. charge = KQ*/4R (New)
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6l e wlaubs .2

:(Fp+. max = K Q%+ /4R%* N) Ugig | dixuidd swola)l audll 699 1.2
Fp* max. = KQ%*/ 4R%* N (New)
F p*. max. = 09E+09x(01.60E-19)%/ 4x(01E-15)?
Fpt.max. =57.6 N

:(Fe".max = K Q%/ 4R%" N) U9 ,uiSIVI @iz wball audll 699 2.2
F ¢ max. = KQ%/ 4R% N (New)
F ¢ max. = 09E+09x(01.60E-19)?/ 4x(2.81777E-15)?
Femax. =7.3N

wswolasll oSl 868 oo ST Ugig | @i dwusladl cswlagll auslsdl 898 Ol Mol (4o
oSl Gy 8lgl) We,SIVI iz 13led oy 13 wguSUVI & dudlzll

3l sl g 8,41 sle dingpoll blgill 2,15 el (b Ugig il Az (sabaell asll 859
eaiel) @0, aScidl ol sl

:0lgdl J>1> Ueig U aidleg U igadl alis) swobrll audldl 699 .3.2

JiSl swobaell audldl 698 Ueld suudni puuund aSLlicwe oSl dimeidl Uslein Ugigudl U] Loy
185 590l

(AliS WY Vg isall (olasll Lisdl 698) Ug gl Vg
Fnt.max. (N) =G Mzn_+/ 4R2 ,*:

Fn* max. = G M2+ 4R2,* N (New)
F p*. max. = 6.67408E-11x(1.67261637E-27)%/ 4x(1E-15)2
Fp* max. = 4.7E-35N
Ugig il Ugigaidl L Adluodl NSJl Lzl 699 LU
F o+ p* = G My+ Mp*/ R2 7 +p*N
Fnt.pt = 6.67408E-11x1.67261637E-27x1.67261637E-27/ (0.8E-15 + 1E-15)2

F n_+. P+ = 5.8E-35N

50|Page

iy ol dsuloll



waball dgydlzll 548
8y3,8di0)] d3S3iliwg eSSt Olizallg Jisl)

Ug gl o xSl Lisdl 868 Of Laug (R = 1.80E-15 M) (umg,3updl 8,5 s ans 0l Lo
wswolasll oSl 868 o ,uSTe We gl @lsS) 83 ,0u0dl JiSU (swodasll dwuslsdl 898 oo JSI Ugig ls
ausll 868 Ll s Wgiguill (] Ldmo Ugigl Ul wsde Jau Low wgig I aliS 83 ,ai0ll JiSU)

a9Luwo S logios 295 Vg 6,40l J=1s 85,000l JiSU cswalasl

0ly (588 Csumublisiog oS (L9U5) slai S8 lpass g lpin oz Aizesia)| dusall lgig
&9luwo >3V ailg 83,000l JxSU (sodaell audladl 868,50 s Lol Wlgig | Giss lg,igall
U yguilly @Ugig | oo wiweall siSUl Ul Ol 8,31 8l J51s Sgiglle U igad! ¢y
gSis asdl lpams Slgigydl G Uil uunblizog oSl Ssall (o anol LS (silly

o oabligog oS (KL stadl o (%1E+36) weol LpigS) @logo auiSIl auslsl sgb

S Olusdy pasdl lpasy wlgig I
 Ugig | i) 65 000 S liwg eS| Ulxwinll wola)l audlxdl 699 4.2
Fp*.max. = 57.6 N
1 Ueigllg Ugigadl uw adlunll LSl wixdl 699 .1.4.2
Fn*.p"=58E35N
1% il
The ratio %:
% = 57.6 N/5.8E-35 N
% = 9.9E+35

% = 1E+36

H-CWH]|

ot b lizog ;o SJl (L) slail o (Yo1E+36) azsl lpigSU dlapo wgig ls Ugyigaill crur s LiSUl izl Sgd
Slgidl J>1> argall 994l 898U oy Lo lidg pasdl lpasy wlgigll
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https://ar.wikipedia.org/wiki/%D9%82%D9%88%D8%A9_%D9%83%D9%87%D8%B1%D9%85%D8%BA%D9%86%D8%A7%D8%B7%D9%8A%D8%B3%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%AA%D8%AC%D8%A7%D8%B0%D8%A8_%D9%82%D9%88%D9%8A
https://ar.wikipedia.org/wiki/%D8%AA%D8%AC%D8%A7%D8%B0%D8%A8_%D9%82%D9%88%D9%8A
https://ar.wikipedia.org/wiki/%D8%AC%D8%A7%D8%B0%D8%A8%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%AC%D8%A7%D8%B0%D8%A8%D9%8A%D8%A9
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waball dgydlzll 548
8y3,8di0)] d3S3iliwg eSSt Olizallg Jisl)

8,1 J=1s whylaadl .
:(R critical = 5.62E-15m) 2,d1 ybi)l was 1.5

0une Az 8)A1 5550 (o] (3udo) AlolSy L ESIVI Lixiy e (sl &)=l @luoll e e
o giowod] 118 giug aimid 85,00l S lwe eS| oliseil) (solasll auslsdl 8gs) algoss

R2critical = K Qp*XQe/ Fe™. max. (New)
R2Gritical = 9E+9x1.6E-19x1.6E-19/ 7.3
R critical = 5.62E-15 m
S 8,01 8o W LSIVI Lixis V 15J .2.5
: bliyVl b sy Loy LiliouS osl=oll (o
(4E-15 m) :ae sde UsSy Ol e V| loguass o O3l Guoausdl 1w V asl
N 2uo pO,J1 13D Jgb ............

iz 8 alioiodl 8,31 8lgig 0guSIVI o izl 898 Vol iz &SVl el poai)
.Ung_H.”g Ug_;.iSJ\”

F = KQr*xQe/ R?

F = 9E+9x1.6E-19x1.6E-19/ (0.0529E-9)?
F = 8233.25E-11 N

F=8.2E-8 N

F=)5,1l 8lgg o,V ool (58 WSVl w @sbonll cswodaell auslsdl 898 doud Ol s\
old Ui (F e max. = 7.3 N) Lpsiasdg wg,aSIVI iz csobasll @ouddl o Js1 (8.2E-8 N
w0, 8,130 8d Lo Wy uSIVI

13,Le
s osde Uy 0l e V] lagiass o 8Ll gaomudl o V ail

R =4E-15m
rosd @9l @8lunall Ulg &8s yue @dluroll 0pd

R critical = 5.62E-15 m
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Vg kS| Jeasiu 0\ 2,dl o LIS wow all aslall .1
En = Fp*. max. (n)2. Ry

1> s lhig (oazespdl 853) e VSVl Juasiy S 25l oo Lpllos] s csall @sllall
oo > sue ol ade (55U ypS )b i ol Guzgyaapl) alell 8,12l W)y (08 Wi s Gax

ungJg)J U.ugl.g.»uu.\z” LSQS)AJLJU.ZJWJI L9J|)|M@9)MJUL19)ASJXJ| U| Lu.u| Lu|w.>
- WU'MOPU[JQ)ASJvthJMQ\SJQOJ.Ul
V99 | Qizenin) asl)l audldl

Fp* max. = 57.6 N
En = Fp*. Max. (n)2. Ri (New)
s dou,Jl @Blb Jios widle ousroydugdl 655 WSl s doMI @dUall .2
En = Fpt max. (n)? x Ry (New)
En = 57.6 x (1) x 0.0529E-09
En = 3.04704E-09 J
En = 1.90167E+10 eV
£ () ,lasdl WYL Ve uSIVI .m0 adla) plall Uil puad
E » = 3.04704E-09. (n)2 (j)
E » = 1.90167E+10. (n)2 (eV)
: Jasoll Oliswinl) (o)l audldl 698 VL € p, cub @osd .3
Rw = 0.09566605788E+36 (New)
: dasoll Ulixidd) wobell audlx] 899 AV gy, B 4
Rw. C. h =1.90167E+10 (eV) (New)
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:(n* = h. ¢. Ro Z2/ Fp+.max. X R1) 8,JU aslall Ulgiauo .5

uSed 3A Giad JS UL ay Wligiuo 7 98 @990 a9Ub)l WU giauo) SAc ,uSi
IS puso p9,J] 13D Jgd ... i)l oIl 3L Souns

r o liswil) webas)l awdldl 898 @Y @asoell @8UaJl Wlgiue dic sbw)
En = - h.c. RwZ?/ (n) 2
En = Fp+. max. (n)2. Ry
Fp+. max. (N)2. Ry = h. ¢. Rw Z%/ (n) 2
(n)* = h. ¢. Rw Z%/ Fp+. max. R1 (New)
:Jlo
15,5 3¢ (sde (Sozg a9 pdl 98 raic sl ul az 1) Isac ol S8V passedly
Z=1
(n)* = h. ¢c. Rw Z%/ Fp+. max. R1 (New)
(n)* = 1.90167E+10 x 1.6023E-19 x (1)2/ 57.6. x 0.0529E-9
(n) = 1 Orbit

radiud Seug puso wgilall WS
(n)* = h. ¢. Rw Z?%/ Fp+. max. Rt (New)

Ml wglall udes go 5,4l 3a2Jb by (1) 8,00 wlylawdl sac
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Jolsdl 1ol .,
R passive = N2. Ri/ 2

35V LU ppie JSJ Qwdlodl 598 Jlbeo it U9 ,iSIVlg Ugig l oxie Sl Hlasdl 1.,
slaodl i gy puws e

D2=(0.0529 x107° - Ugig,Jl ¢re 0asug « (D1) WgSIVI e 032 £9JgS 1 By pun> Lo yik
0l WY 3V 60 ppie JSJ audladl o (sily (sSJ - Dy)

1 @zeid) Ve,SIVI Li> 898 = 1 @izeid) Ugig | Li> bgd
R passive = NZ. R1/2:
Fpr1=Fe-1
Di2 = - (0.0529 x10° - D;)?
D12 = - {(0.0529 x107?)% — 2X0.0529X10° D1 + D1%}
D; = 0.02645x10°m
Ri passive = 0.02645x10°m
R passive = N2. R1/ 2 (New)

wUgig ully aalizoll &ilslaw 9 We,SIVI (w @SLuuodl raiio Jios aSluuodl 0ia ol la>Moll Y
.0gig,ullg UQ)ISJ:\“ iz Hlase Sl eldg 6,41 blgu

W SIYI Lpsd WeSy whlae (s Wleall Seaw LpiSiay V g IV Ul (sd 591 @rio)d pal wilS
oSJs 8lail (s aiung Wbl JS 288y Beaw o)l (oo 8,19 1950 A 6 Vg gy V oSl Hdiuo
698 s Hlaodl 11 (59 g8y (s9g,iSJ| pou> 399 80 (R passive = N2 R/ 2) Jolsl jlaoll 59>,
il i 895 plass] dsis Joldl lnoll el Loy 13] slail) GVl bgiw i dslio
S 23l Hlaodl (] Jgosl) sapesi) pusuzdl 13d sde Josll oz oSJg wgig lly W uSIVI
Slodl (s ba oy
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https://ar.wikipedia.org/wiki/%D9%81%D8%B1%D8%B6%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D9%81%D8%B1%D8%B6%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%A8%D9%88%D8%B1
https://ar.wikipedia.org/wiki/%D8%A8%D9%88%D8%B1

waball dgydlzll 548
8y3,8di0)] d3S3iliwg eSSt Olizallg Jisl)

8,MJU Lpidleg Soudl sl 1.
$ clsgaw wgi (sl (U9,iSIVI - Vg yigaill = Ugig ll) W polic Jg=is Ol 8,4 Sou Jo
18,31 WlgSe AV alowy)lew s wa)
Rs = 2Gm/ C? (m)
(Vg iadl - wgigydl) Lozl Hhd ans
Rs = 2 X 6.67408E-11 x 1.67261637E-27/ (2.99792458E+8)?
Rs = 2.5E-54 (m)

b as WYL uginidly wuisigl SeuwVl wiill adasll dwslsdl bed .1
2 5 ) Lo

F o+ max. = Gm?/ 4R¢2
F o+ max. = 6.67408E-11 x (1.67261637E-27)%/ 4 X (2.5E-54)2
Fen gt max. = 0.75E+43 N
H(Vg,aSIVI) Wzl s

Rs = 2 X 6.67408E-11 x 9.11E-31/ (2.99792458E+8)?
Rs = 13.5E-58 (m)

;Mo 35, Lo pdbd was AVa g SV dgw VI il wodasll audladl 699 .2
F o* max. = Gm?/ 4R¢2
F o max. = 6.67408E-11 x (9.11E-31)%/ 4 x (13.5E-58)?

FeH Q" max. = 0.75E4+43 N

:Jlgdl

S 39w wedi) 8,3l GlgSo Jugms UiSou S
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waball dgydlzll 548
8y3,8di0)] d3S3iliwg eSSt Olizallg Jisl)

S8 2uxaig wwele gliiaw] .gw
1 Soluwig LW aliS csd sewVl uaill aliS J61 ol pgleall o
M planck = 22E-09 kg.
rangleoll puswai .1.uw
(bW alsS) wasdl Hhd a
Rs = 2GM/ C2 (m)
Rs = 2 X 6.67408E-11 x 22E-09 / (2.99792458E+08)2 (m)
Rs = 32.6740281E-36 (m)
2 35 ) Laio J0d waay AV il alis) deaw VI wiill wodasll audladl 899 2. gw
F p. Max. = GM?/ 4Rs?
F p. Max. = 6.67408E-11 x (22E-09)%/4 x (32.6740281E-36)?
F p.Max. = 0.75E+43 N
byl b8 waar @V gl sVl Caill (swlasll 3ga)l UT Lovg
F n. Max. = 0.75E+43 (N)
 Selatig Wgigad] AiS (b SowVl st aliS J31 wb guisanis
M eutron = 9.117E-31 kg.
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